

June 15, 2022

VIA RESS

Ontario Energy Board P.O. Box 2319 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4 **Attention: Registrar**

Dear Ms. Marconi:

Re: Hydro One Networks Inc. (HONI) – Interim Cost Claim (DRC) Board File No. EB-2021-0110

Please find attached the cost claim of the Distributed Resource Coalition (**DRC**) in the above-referenced proceeding (the **Proceeding**), filed pursuant to Procedural Order No. 6 dated June 2, 2022.

DRC respectfully requests an interim cost award of 100% of its eligible costs, given its strategic and principled participation in the Proceeding on behalf of otherwise unrepresented ratepayers with unique interests. DRC submits that this request is supported by the following considerations:

- DRC has participated effectively, taking a surgical, principled, and coordinated approach to the issues and undertaking coordination with other intervenors to avoid overlap and maximize efficiency in all aspects of the Proceeding;
- (ii) DRC has participated responsibly and made reasonable efforts to ensure that its participation was not unduly repetitive and was focused on relevant and material issues; and
- (iii) DRC has contributed to the Board's better understanding of issues in the Proceeding by filing interrogatories, participating in technical conferences, and engaging in other aspects of the proceeding in a principled and efficient manner.

We trust that DRC's approach to-date has maximized efficiency and the right of otherwise unrepresented DER, electric vehicle, and related ratepayers to be heard in a manner that is consistent with the Board's mandate and statutory objectives.

DRC respectfully requests a full award of its interim costs.

Sincerely,

Jonathan McGillivray Jonathan McGillivray

<u>EB-2021-0110 : 2 : Monika Pecnikova</u>							
COST CLAIM NUMBER 484	SUBMISSION DEADLINE DATE June 16, 2022	CLAIM STATUS Approved by Finance					
EB# EB-2021-0110: Rates: Distribution: Hydro One Networks Inc.	OTHER EB#S	PHASE #* 2					
INTERVENOR Pecnikova, Monika; +1 (647) 971-6771 monika@resilientllp.com	INTERVENOR COMPANY* Distributed Resource Coalition, Toronto: Cooperative	INTERVENOR TYPE Full Registrant					
HST RATE ONTARIO 13.00	EXCHANGE RATE	COUNTRY Canada					
HST NUMBER	LATE SUBMISSION ALLOWED	EXTENSION DEADLINE DATE					

PARTICIPANTS

<u></u>				Participant
New	Non-Filing Participant First, Last Name	Filing Participant	Total (\$)	Claim Status
No	,	Vollmer, Daniel; +1 (647) 993-6338 daniel@resilientllp.com	5,186.70	Submitted
No	1	DeMarco, Lisa (Elisabeth) ; +1 (647) 991-1190 lisa@resilientllp.com	3,990.03	Submitted
No	,	McGillivray, Jonathan; +1 (647) 208-2677 jonathan@resilientllp.com	5,474.85	Submitted
No	1	McGillivray, Jonathan; +1 (647) 208-2677 jonathan@resilientllp.com	3,742.56	Submitted
No	,	Daube, Nicholas; +1 (416) 768-8341 nicholas@resilientllp.com	3,637.47	Submitted

ATTACHMENTS

Attachment	Attachment Date	Participant	Document Type	Claim Type	Import Message
DRC EB-2021-0110 Cost Claim 061520221553.pdf					
DRC_EB-2021-0110_Cover Letter_20220615.pdf			Cover Letter		
TOTAL LEGAL/CONSULTANT/OTHER FEES 19,497.00	TOTAL DISBURSI	EMENTS).00			TOTAL HST 2,534.61
TOTAL CLAIM 22,031.61	TOTAL AMOUNT	AWARDED			
REASON FOR DISALLOWANCE	REASON FOR DISALLOWANCE	- 2			ON FOR OWANCE - 3
MAKE CHEQUE PAYABLE TO Resilient LLP					
SEND PAYMENT TO ADDRESS 333 Bay Street, Suite 625 Toronto, ON M5H 2R2				ATTEN	TION
SUBMIT SECTION I am a representative of the Party. I have examined all incurred and time spent are directly related to the Party					
This cost claim does not include any costs for work don Party as described in section 6.05 and 6.09 of the OEB				or officer (of the

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY Jonathan McGillivray DATE SUBMITTED June 15, 2022 Daniel Vollmer

PARTICIPANT

CASE EB-2021-0110: Rates: Distribution: Hydro One Networks Inc.	COST CLAIM EB-2021-0110 : 2 Pecnikova	2 : Monika	Pecnikova	NOR NAME , Monika; +1 (monika@resili	,	CLAIM ST. Submitted	
FILING PARTICIPANT Vollmer, Daniel; +1 (647) 993-63 daniel@resilientllp.com	338	NEW PARTICIPAN No	NON-FIL IT PARTICI	ING PANT F. NAM	E	NON-FILING PARTICIPANT	L. NAME
SERVICE PROVIDER TYPE Legal Counsel	YEA I 2020	R CALLED TO BA	PRA	APLETED YEA CTICING/YEA EVANT EXPE	RS OF	HOURL	Y RATE 170
CV STATUS (FOR					I	HST	RATE
CONSULTANT/ANALYST)	LAS	T CV DATE				СНА	RGED
CV Provided within Previous 24	Febr	uary 23, 2022					13.00
Months							
HEARINGS	CON	SULTATIONS	DISE	BURSEMENT	6		
Yes	No		No				
HEARINGS							
Name		<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Review Application and Evider		0.00	470	450.00	40.00		470.00
Review Application and	Evidence	0.90	170	153.00	13.00	19.89	172.89
Discovery	tariaa	11 60	170	1 072 00	12.00		2 220 26
Preparation of Interrogat		11.60	170	1,972.00	13.00		2,228.36
Review Interrogatory Re Technical Conference P		12.60	170 170	2,142.00	13.00 13.00		2,420.46
Technical Conference At		12.00	170	2,142.00	13.00		2,420.40
Technical Conference Fo			170		13.00		
Issues List			170		13.00		
Preparation			170		13.00	1	
Attendance at Issues Co	onference		170		13.00		
Intervenor Evidence			110		10.00	·	
Preparation			170		13.00)	
Interrogatory Responses	3		170		13.00		
Preparation of Witness(170		13.00		
at Hearing	,						
Settlement Conference / ADR							
Preparation			170		13.00)	
Attendance			170		13.00)	
Preparation of Settleme	nt Proposal		170		13.00		
Attendance at Presentat	ion to Panel		170		13.00)	
Oral Hearing							
Preparation			170		13.00		
Attendance at Oral Hear	ing		170		13.00)	
Submissions		4.00	470	202.00	40.00	44.00	004.00
Written Submissions		1.90	170 170	323.00	13.00		364.99
Oral Submissions Attendance at Oral Subr	nissione		170 170		13.00 13.00		
Other Attendance	1113310113		170		13.00	,	
Other Attendance			170		13.00)	
Communication					.0.00		
With Client			170		13.00)	
With Other Parties			170		13.00		
Motions							
	Materials		170		13.00		
Motions			170 170		13.00 13.00		
Motions Preparation of Motion(s)	n the Motion(s))	

Preparation of Application for	170	13.00		
Confidentiality				
Prepare Submissions on Confidentiality	170	13.00		
Attendance at Hearing on Confidentiality	170	13.00		
Decision				
Review	170	13.00		
Rate Order				
Review	170	13.00		
Prepare Submission on Rate Order	170	13.00		
Total Service Provider Fees				
Total Service Provider Fees:	4,590.00		596.70	5,186.70

Attachment

Document Type

Import Message

DRC_EB-2021-0110_Daniel Vollmer_Dockets_20220616.pdf Time Docket

Hearings, Consultations, Disbursements Attachments

<u>Attachment</u>

Related Disbursement Claim

DRC_EB-2021-0110 _Daniel Vollmer_Dockets_20 220616.pdf

Document

TypeClaim TypeTime DocketHearings

Туре	Date	Hours Description	Rate (\$) Billable (\$) U	ser Bill number	ID
TimeEntry	08/24/2021	1.2 APR - DRC focused review application and evidence searchable terms;	170 204 D	aniel Vollmer 21188	2652520489
TimeEntry	08/26/2021	0.7 APR - Review application and evidence for DRC;	170 119 D	aniel Vollmer 21188	2657616409
TimeEntry	09/17/2021	1 IRP - Prepare IRs;	170 170 D	aniel Vollmer 21188	2718558694
TimeEntry	09/20/2021	0.9 CMT - Review and summarize PO1 per instructions from L. DeMarco;	170 153 D	aniel Vollmer 21188	2724605254
TimeEntry	10/08/2021	0.1 IRP - Prepare interrogatories;	170 17 D	aniel Vollmer 21188	2854595690
TimeEntry	10/26/2021	4.2 IRP - Prepare interrogatories;	170 714 D	aniel Vollmer 21188	2854598255
TimeEntry	11/30/2021	0.2 TCP - Review interrogatory responses;	170 34 D	aniel Vollmer 21188	2923580136
TimeEntry	12/02/2021	2.6 TCP - Review interrogatory responses;	170 442 D	aniel Vollmer 21188	2923581696
TimeEntry	12/03/2021	1.1 TCP - Review interrogatory responses;	170 187 D	aniel Vollmer 21188	2923583346
TimeEntry	12/13/2021	1.8 TCP - Prepare materials for technical conference Panel 1;	170 306 D	aniel Vollmer 21188	2941410636
TimeEntry	01/21/2022	4.4 IRP - Prepare interrogatories on PEG evidence;	170 748 D	aniel Vollmer 22144	3026354511
TimeEntry	01/23/2022	0.8 IRP - Prepare interrogatories on PEG evidence;	170 136 D	aniel Vollmer 22144	3028971156
TimeEntry	01/24/2022	0.6 IRP - Prepare interrogatories re PEG evidence;	170 102 D	aniel Vollmer 22144	3029942796
TimeEntry	04/18/2022	0.5 IRP - Review updated application evidence;	170 85 D	aniel Vollmer 22144	3346550946
TimeEntry	05/02/2022	1.8 TCP - Prepare IRs on updated evidence;	170 306 D	aniel Vollmer 22144	3412759926
TimeEntry	05/24/2022	1 TCP - Technical conference preparation;	170 170 D	aniel Vollmer 22144	3412770666
TimeEntry	05/25/2022	1.3 TCP - Technical conference preparation;	170 221 D	aniel Vollmer 22144	3412785996
TimeEntry	05/26/2022	1.3 TCP - Technical conference material preparation;	170 221 D	aniel Vollmer 22144	3412872636
TimeEntry	06/01/2022	1.5 TCP - Prepare and review documents for Day 2 of technical conference;	170 255 D	aniel Vollmer 22144	3437198046
		27			

Created at

08/24/2021 2:31 PM EDT

08/26/2021 11:53 AM EDT

09/17/2021 1:31 PM EDT 09/21/2021 10:24 AM EDT

11/11/2021 10:49 AM EST

11/11/2021 10:49 AM EST

12/09/2021 5:07 PM EST

12/09/2021 5:08 PM EST

12/09/2021 5:08 PM EST

12/16/2021 4:44 PM EST

01/21/2022 11:33 AM EST

01/23/2022 2:18 PM EST

01/24/2022 11:20 AM EST

05/10/2022 5:09 PM EDT

06/01/2022 3:52 PM EDT

06/01/2022 3:54 PM EDT

06/01/2022 3:56 PM EDT

06/01/2022 4:09 PM EDT

06/08/2022 4:02 PM EDT

	L	isa (Elisabe	eth) DeMa	rco		Ju	ine 30, 202
CASECOST CLAEB-2021-0110: Rates:EB-2021-0Distribution: Hydro OnePecnikovaNetworks Inc.Pecnikova		-	INTERVEI Pecnikova	NOR NAME I, Monika; +1 (monika@resili		PARTICIP/ CLAIM ST/ Submitted	
FILING PARTICIPANT DeMarco, Lisa (Elisabeth) ; +1 (i lisa@resilientllp.com	647) 991-1190	NEW PARTICIPA No	NON-FIL NT PARTICI	.ING PANT F. NAM		NON-FILING PARTICIPANT	L. NAME
SERVICE PROVIDER TYPE Legal Counsel	YEA 1997	R CALLED TO B	PRA	IPLETED YEA CTICING/YEA EVANT EXPE	ARS OF RIENCE	HOURL	Y RATE 330
					25	цет	DATE
CV STATUS (FOR CONSULTANT/ANALYST) CV Provided within Previous 24	-	T CV DATE ruary 23, 2022				_	RATE RGED 13.00
Months HEARINGS Yes	CON No	ISULTATIONS	DIS I No	BURSEMENT	6		
HEARINGS							
Name		Hours	Hourly Rate	Sub Total	HST Rate	HST	<u>Total</u>
Review Application and Evider Review Application and B		0.40	330	132.00	13.00	17.16	149.16
Discovery							
Preparation of Interrogat		2.20	330	726.00	13.00		820.38
Review Interrogatory Re Technical Conference Pr		2.10	330 330	693.00	13.00		783.09
Technical Conference At	•	5.30	330 330	1,749.00	13.00 13.00		1,976.37
Technical Conference Fo		0.00	330	1,1 10.00	13.00		1,010.01
Issues List	•						
Preparation			330		13.00		
Attendance at Issues Co Intervenor Evidence	nference		330		13.00		
Preparation			330		13.00		
Interrogatory Responses	;		330		13.00		
Preparation of Witness(e at Hearing	es) for Attendance		330		13.00		
Settlement Conference / ADR		0.70		004.00	40.00		
Preparation Attendance		0.70	330 330	231.00	13.00 13.00		261.03
Preparation of Settlemer	nt Proposal		330		13.00		
Attendance at Presentati			330		13.00		
Oral Hearing							
Preparation	·		330		13.00		
Attendance at Oral Hear Submissions	ing		330		13.00		
Written Submissions			330		13.00		
Oral Submissions			330		13.00		
Attendance at Oral Subn	nissions		330		13.00		
Other Attendance Other Attendance			330		13.00		
Communication			330		13.00		
With Client			330		13.00		
With Other Parties			330		13.00		
Motions	Motorials				40.00		
Preparation of Motion(s) Prepare Submissions on			330 330		13.00 13.00		
Attendance at Hearing o			330		13.00		
Confidentiality			500		.0.00		

Preparation of Application for	330	13.00		
Confidentiality				
Prepare Submissions on Confidentiality	330	13.00		
Attendance at Hearing on Confidentiality	330	13.00		
Decision				
Review	330	13.00		
Rate Order				
Review	330	13.00		
Prepare Submission on Rate Order	330	13.00		
Total Service Provider Fees				
Total Service Provider Fees:	3,531.00		459.03	3,990.03

Attachment

DRC_EB-2021-0110_LisaDeMarco_Dockets _2022.06.16.pdf Document Type Time Docket

Import Message

Hearings, Consultations, Disbursements Attachments

Attachment

Related Disbursement Claim

DRC_EB-2021-0110 _LisaDeMarco_Dock ets_2022.06.16.pdf

Document Type C

TypeClaim TypeTime DocketHearings

Туре	Date	Hours Description	Rate (\$) Bil	lable (\$) User	Bill number ID
TimeEntry	09/20/2021	0.4 Instructions to J. McGillivray and D. Vollmer re DRC interests and points of emphasis;	330	132 Lisa DeMarco	21188 3029878551
TimeEntry	10/26/2021	1.3 IRP - Finalize interrogatories; Communications with the client;	330	429 Lisa DeMarco	21188 3029915721
TimeEntry	01/24/2022	0.5 IRP - Review and revise interrogatories re PEG evidence;	330	165 Lisa DeMarco	22144 3036890526
TimeEntry	05/25/2022	0.7 TCP - Prepare for technical conference with N. Daube and J. McGillivray;	330	231 Lisa DeMarco	22144 3412791336
TimeEntry	05/30/2022	0.8 TCP - Prepare for technical conference; Instructions to N. Daube and J. McGillivray re same;	330	264 Lisa DeMarco	22144 3412925586
TimeEntry	05/31/2022	5.3 TCA - Prepare for and attend Day 1 of technical conference;	330	1749 Lisa DeMarco	22144 3412932366
TimeEntry	06/01/2022	0.6 TCP - Instructions to N. Daube re Day 2 of technical conference;	330	198 Lisa DeMarco	22144 3437200986
TimeEntry	02/04/2022	0.7 SCP - Instructions to J. McGillivray re settlement conference;	330	231 Lisa DeMarco	22144 3454695351
TimeEntry	04/18/2022	0.4 IRP - Instructions to team on interrogatories;	330	132 Lisa DeMarco	22144 3454695816
		10.7			

Created at

01/24/2022 11:07 AM EST

01/24/2022 11:15 AM EST

01/25/2022 11:24 PM EST

06/01/2022 3:57 PM EDT

06/01/2022 4:18 PM EDT

06/01/2022 4:19 PM EDT

06/08/2022 4:03 PM EDT

06/13/2022 11:46 PM EDT

06/13/2022 11:47 PM EDT

Jonathan McGillivray

June 30, 2022

	<u>Jonathan</u>	<u>McGillivra</u>	ay				
	0110 : 2 : Monika Pecnikova, Monika; +1 (647)		ST CLAIMINTERVENOR NAMECLAIM S-2021-0110 : 2 : MonikaPecnikova, Monika; +1 (647)Submitte				
) 208-2677	NEW PARTICIPA No					L. NAME	
	YEAR CALLED TO B 2017	PR	ACTICING/YE	ARS OF RIENCE			
4	LAST CV DATE February 24, 2022			3		RATE RGED 13.00	
	CONSULTATIONS No	DIS No	BURSEMENT	S			
	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	Tota	
e nce I Evidence	0.40	170	68.00	13.00	8.84	76.84	
atories	2.60	170	442.00	13.00	57.46	499.40	
esponses		170		13.00			
•					165.75	1,440.7	
	15.10		2,567.00		333.71	2,900.7	
onow op		110		10.00			
	0.50	170	85.00	13.00	11.05	96.0	
onference		170		13.00			
		170		13.00			
is.							
	lance						
	0.00	470	400.00	40.00	40.00	445.0	
	0.60		102.00		13.26	115.2	
ent Proposal							
ation to Panel		170					
		170		13.00			
iring		170		13.00			
	0.20	170	34.00	13.00	4 4 2	38.42	
		170		13.00			
missions		170		13.00			
		170		10.00			
		170		13.00			
	0 70	170	119 00	13 00	15 47	134.4	
	0.70	170	110.00	13.00	10.77	104.4	
s) Materials		170		13.00			
n the Mation(o)	170		13.00			
on the Motion(on Motion(s)	0.90	170	153.00	13.00		172.89	
	EB-2021-0 Pecnikova	COST CLAIM EB-2021-0110 : 2 : Monika Pecnikova) 208-2677 VEAR CALLED TO B 2017 VEAR CALLED TO B 2017 4 LAST CV DATE Proce 1 Evidence 0.40 atories 2.60 Preparation Attendance Preparation Conference 0.50 Conference 0.60 ent Proposal ation to Panel ation to Panel 0.20 omissions 0.70	COST CLAIM Pecnikova INTERVE Pecnikova NITERVE Pecnikova NITERVE Pecnikova NITERVE Pecnikova 208-2677 NEW PARTICIPANT No NON-FII PARTICIPANT NON-FII PARTICIPANT 4 YEAR CALLED TO BAR 2017 CO PRATICIPANT NON-FII PARTICIPANT 4 LAST CV DATE February 24, 2022 NO CONSULTATIONS No DIS No Prece I Evidence 0.40 170 atories 2.60 170 esponses 7.50 170 Preparation 7.50 170 onference 0.50 170 esponses 0.60 170 atories 0.60 170 esponses 170 170 onference 0.60 170 ent Proposal tion to Panel 170 170 aring 0.20 170 omissions 0.20 170 omissions 0.70 170 0.70 170 170 aring 170 170 aring 170 170 aring 170 170	COST CLAIM EB-2021-0110 : 2 : Monika Pecnikova NEW PARTICIPANT No NON-FILING PARTICIPANT NO VEAR CALLED TO BAR 2017 VEAR CALLED TO BAR 2017 VEAR CALLED TO BAR 2017 VEAR CALLED TO BAR 2017 VEAR CALLED TO BAR COMPLETED YEA PRACTICINGYEA RELEVANT EXPE 4. LAST CV DATE February 24, 2022 CONSULTATIONS No No No No No No No No No No	COST CLAIM EB-2021-0110 : 2 : Monika Pecnikova INTERVENCR NAME Pecnikova, Monika; +1 (647) 971-6771 monika@resilientlip.com NEW Participant No NON-FILING PARTICIPANT No NON-FILING PARTICIPANT F. NAME YEAR CALLED TO BAR 2017 COMPLETED YEARS PRACTICING/YEARS OF RELEVANT EXPERIENCE 5 A LAST CV DATE February 24, 2022 CONSULTATIONS No DISBURSEMENTS No Metricipant Hourly Rate Sub Total HST Rate HST Rate Mone 10 13.00 Attraction 10.00 13.00 Mone 100 100 13.00 Mone 100 100 13.00 Mone 100 100 13.00 Mone 100 100 100 Mone 100 100 100 100 Mone 100 <td>COST CLAIM EB-2021-0110 : 2 : Monika Pecnikova INTERVENCE NAME Pecnikova, Monika; +1 (647) 971-6771 monika@resilientlip.com CLAIM ST CLAIM Submitted New PARTICIPANT No NON-FILING PARTICIPANT PARTICIPANT F. NAME NON-FILING PARTICIPANT No NON-FILING PARTICIPANT NON-FILING PARTICIPANT NON-FILING PARTICIPANT YEAR CALLED TO BAR 2017 COMPLETED YEARS PRACTICINO/YEARS OF RELEVANT EXPERIENCE HOURL Factor At ST CV DATE February 24, 2022 DISBURSEMENTS No HOURL Participant HST Rate HST HST CHA MCC Hourly Rate Sub Total HST Rate HST HST CHA Mono No No Submitted Mono No No Submitted Mono No No Submitted HOURL Fear (CHA Mono No No No Submitted Mono No No No Submitted Mono No No Submitted HOURL Submitted Materials Hourly Rate Sub Total HST Rate HST No Materials 0.40 170 68.00 13.00 <t< td=""></t<></td>	COST CLAIM EB-2021-0110 : 2 : Monika Pecnikova INTERVENCE NAME Pecnikova, Monika; +1 (647) 971-6771 monika@resilientlip.com CLAIM ST CLAIM Submitted New PARTICIPANT No NON-FILING PARTICIPANT PARTICIPANT F. NAME NON-FILING PARTICIPANT No NON-FILING PARTICIPANT NON-FILING PARTICIPANT NON-FILING PARTICIPANT YEAR CALLED TO BAR 2017 COMPLETED YEARS PRACTICINO/YEARS OF RELEVANT EXPERIENCE HOURL Factor At ST CV DATE February 24, 2022 DISBURSEMENTS No HOURL Participant HST Rate HST HST CHA MCC Hourly Rate Sub Total HST Rate HST HST CHA Mono No No Submitted Mono No No Submitted Mono No No Submitted HOURL Fear (CHA Mono No No No Submitted Mono No No No Submitted Mono No No Submitted HOURL Submitted Materials Hourly Rate Sub Total HST Rate HST No Materials 0.40 170 68.00 13.00 <t< td=""></t<>	

Preparation of Application for	170	13.00		
Confidentiality				
Prepare Submissions on Confidentiality	170	13.00		
Attendance at Hearing on Confidentiality	170	13.00		
Decision				
Review	170	13.00		
Rate Order				
Review	170	13.00		
Prepare Submission on Rate Order	170	13.00		
Total Service Provider Fees				
Total Service Provider Fees:	4,845.00		629.85	5,474.85

Attachment

DRC_EB_2021-0110_JonathanMcGillivray_1 70Hourly Rate_Dockets_20220616.pdf Document Type Time Docket

Import Message

Hearings, Consultations, Disbursements Attachments

Attachment

Related Disbursement Claim

DRC_EB_2021-0110 _JonathanMcGillivra y_170Hourly Rate_Dockets_2022 0616.pdf

Document_

TypeClaim TypeTime DocketHearings

Туре	Date	Hours Description	Rate (\$) Bi	llable (; User
TimeEntry	09/20/2021	0.4 CMT - Review PO1 and report to client re same; Instructions re generic UTR proceeding;	170	68 J. McGillivray
TimeEntry	10/26/2021	1.7 IRP - Instructions to D. Vollmer re revisions to interrogatories;	170	289 J. McGillivray
TimeEntry	11/16/2021	0.2 APR - Communications with client group;	170	34 J. McGillivray
TimeEntry	11/29/2021	0.3 TCP - Review interrogatory responses and instructions to D. Vollmer re further review and preparation for technical conference;	170	51 J. McGillivray
TimeEntry	12/06/2021	1.3 TCP - Prepare for technical conference;	170	221 J. McGillivray
TimeEntry	12/06/2021	0.7 TCP - Prepare and file letter re subject areas and time estimates for technical conference;	170	119 J. McGillivray
TimeEntry	12/08/2021	0.8 TCP - Prepare for technical conference;	170	136 J. McGillivray
TimeEntry	12/08/2021	0.1 ICP - Review draft Issues List circulated in intervenor group;	170	17 J. McGillivray
TimeEntry	12/10/2021	1.2 TCP - Prepare for technical conference;	170	204 J. McGillivray
TimeEntry	12/13/2021	3.1 TCA - Attend on Technical Conference (Day 1);	170	527 J. McGillivray
TimeEntry	12/13/2021	1.1 TCP - Prepare for technical conference;	170	187 J. McGillivray
TimeEntry	12/14/2021	3.5 TCA - Attend on Technical Conference (Day 2);	170	595 J. McGillivray
TimeEntry	12/15/2021	3.3 TCA - Attend on Technical Conference (Day 3);	170	561 J. McGillivray
TimeEntry	12/15/2021	1.2 TCP - Prepare for technical conference;	170	204 J. McGillivray
TimeEntry	12/16/2021	0.9 TCP - Prepare for technical conference;	170	153 J. McGillivray
TimeEntry	12/16/2021	3.3 TCA - Attend on Technical Conference (Day 4);	170	561 J. McGillivray
TimeEntry	12/17/2021	1.9 TCA - Attend on Technical Conference (Day 5);	170	323 J. McGillivray
TimeEntry	01/07/2022	0.4 ICP - Review draft Issues List from Board staff and suggest changes to same; Correspondence and coordination with K. Elson and M. Brophy	170	68 J. McGillivray
TimeEntry	01/05/2022	0.6 SCP - Review undertaking responses;	170	102 J. McGillivray
TimeEntry	01/12/2022	0.7 OCP - Instructions from client group;	170	119 J. McGillivray
TimeEntry	01/19/2022	0.9 OCA - Attend on Motions Hearing;	170	153 J. McGillivray
TimeEntry	01/19/2022	0.7 IRP - Review Board Staff (PEG) expert evidence and instructions to D. Vollmer re preparation of interrogatories on same;	170	119 J. McGillivray
TimeEntry	01/22/2022	0.2 IRP - Review/revise draft interrogatories to Board Staff expert witness;	170	34 J. McGillivray
		28.5		

Bill numbeı ID	Created at
21188 2724590794	09/21/2021 10:20 AM EDT
21188 2854601120	11/11/2021 10:50 AM EST
21188 2887130450	11/23/2021 5:33 PM EST
21188 2923576911	12/09/2021 5:07 PM EST
21188 2923589766	12/09/2021 5:10 PM EST
21188 2923592721	12/09/2021 5:11 PM EST
21188 2923597266	12/09/2021 5:12 PM EST
21188 2923601796	12/09/2021 5:13 PM EST
21188 2941407171	12/16/2021 4:44 PM EST
21188 2941415616	12/16/2021 4:45 PM EST
21188 2941418991	12/16/2021 4:46 PM EST
21188 2941425546	12/16/2021 4:48 PM EST
21188 2941429176	12/16/2021 4:49 PM EST
21188 2941434036	12/16/2021 4:50 PM EST
21188 2941435866	12/16/2021 4:50 PM EST
21188 2946668451	12/20/2021 11:40 AM EST
21188 2946670131	12/20/2021 11:41 AM EST
22144 2985339111	01/07/2022 11:09 AM EST
22144 2987007591	01/07/2022 4:42 PM EST
22144 2996642991	01/12/2022 10:02 AM EST
22144 3018676746	01/19/2022 9:46 AM EST
22144 3021294936	01/19/2022 4:43 PM EST
22144 3029239296	01/23/2022 11:13 PM EST

Jonathan McGillivray

June 30, 2022

PARTICIPANT

CASECOST CLAIMEB-2021-0110: Rates:EB-2021-0110 : 2 : MonikaDistribution: Hydro OnePecnikovaletworks Inc.Pecnikova		Pecnikova	INTERVENOR NAME Pecnikova, Monika; +1 (647) 971-6771 monika@resilientllp.com			CLAIM STATUS Submitted		
FILING PARTICIPANT McGillivray, Jonathan; +1 (647 jonathan@resilientllp.com) 208-2677	NEW PARTICIP No	NON-FIL ANT PARTICI	.ING PANT F. NAM	E	NON-FILING PARTICIPANT	L. NAME	
		YEAR CALLED TO E 2017	PRA	COMPLETED YEARS PRACTICING/YEARS OF RELEVANT EXPERIENCE 6		HOURLY RATE 230		
CV STATUS (FOR					0	HST	RATE	
CONSULTANT/ANALYST) CV Provided within Previous 24 Months	4	LAST CV DATE February 24, 2022				-	RGED 13.00	
HEARINGS Yes		CONSULTATIONS No	DISI No	BURSEMENT	6			
HEARINGS								
<u>Name</u>		Hours	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>	
Review Application and Evide Review Application and			230		13.00)		
Discovery Preparation of Interroga	atorios	0.40	230	92.00	13.00	11.96	103.96	
Review Interrogatory R		0.40	230	32.00	13.00		100.00	
Technical Conference F		6.90	230	1,587.00	13.00		1,793.31	
Technical Conference A Technical Conference F			230 230		13.00 13.00			
Issues List Preparation			230		13.00			
Attendance at Issues C	onference		230		13.00			
Intervenor Evidence			200		10.00			
Preparation			230		13.00)		
Interrogatory Response			230		13.00			
Preparation of Witness at Hearing		lance	230		13.00)		
Settlement Conference / ADR Preparation		5.60	230	1,288.00	13.00	167.44	1,455.44	
Attendance		5.60 1.20	230	276.00	13.00		1,455.44 311.88	
Preparation of Settleme	ent Proposal	1.20	230	210.00	13.00		011.00	
Attendance at Presenta			230		13.00			
Oral Hearing								
Preparation			230		13.00			
Attendance at Oral Hea Submissions	ung		230		13.00	1		
Written Submissions		0.30	230	69.00	13.00	8.97	77.97	
Oral Submissions			230		13.00			
Attendance at Oral Sub	missions		230		13.00)		
Other Attendance			000		40.00			
Other Attendance Communication			230		13.00	1		
With Client			230		13.00)		
			230		13.00			
With Other Parties								
With Other Parties Motions								
With Other Parties Motions Preparation of Motion(s			230		13.00			
With Other Parties Motions	n the Motion(5)			13.00 13.00 13.00)		

Preparation of Application for	230	13.00		
Confidentiality				
Prepare Submissions on Confidentiality	230	13.00		
Attendance at Hearing on Confidentiality	230	13.00		
Decision				
Review	230	13.00		
Rate Order				
Review	230	13.00		
Prepare Submission on Rate Order	230	13.00		
Total Service Provider Fees				
Total Service Provider Fees:	3,312.00		430.56	3,742.56

Attachment

DRC_EB-2021-0110_JonathanMcGillivray_D ockets_230Hourly rate_20220616.pdf

Document Type Time Docket

Import Message

Hearings, Consultations, Disbursements Attachments

Attachment

Related Disbursement Claim

DRC_EB-2021-0110 _JonathanMcGillivra y_Dockets_230Hourl y rate_20220616.pdf

Document

TypeClaim TypeTime DocketHearings

Type Date	Hours Description	Rate (\$) Bill	able (\$) User
TimeEntry 01/31/2022	0.9 SCP - Intervenor coordination meeting;	230	207 J. McGillivray
TimeEntry 02/03/2022	1.1 SCP - Review draft intervenor proposals and prepare for settlement conference;	230	253 J. McGillivray
TimeEntry 02/04/2022	1.6 SCP - Coordinate with other intervenors and prepare for settlement conference;	230	368 J. McGillivray
TimeEntry 02/07/2022	1.2 SCA - Attend Settlement Conference re adjournment and review and consider Hydro One correspondence re same;	230	276 J. McGillivray
TimeEntry 02/08/2022	0.4 SCP - Review and consider Hydro One and intervenor correspondence re evidence update and scheduling;	230	92 J. McGillivray
TimeEntry 02/09/2022	0.5 SCP - Reporting to client group re Hydro One request for settlement conference adjournment and related evidence update;	230	115 J. McGillivray
TimeEntry 02/11/2022	0.3 SCP - Review and consider Feb. 11 correspondence from Hydro One re evidence update and scheduling;	230	69 J. McGillivray
TimeEntry 02/18/2022	0.3 APR - Review and consider PO4 re abeyance;	230	69 J. McGillivray
TimeEntry 04/18/2022	0.4 IRP - Review PO5; Instructions to D. Vollmer re preparation of interrogatories on application update;	230	92 J. McGillivray
TimeEntry 04/21/2022	0.3 SCP - Review and consider Hydro One correspondence re PO5; Review correspondence on confidentiality decision;	230	69 J. McGillivray
TimeEntry 04/22/2022	0.2 SCP - Review correspondence on confidentiality decision;	230	46 J. McGillivray
TimeEntry 04/28/2022	0.3 SCP - Review correspondence on proceeding timeline;	230	69 J. McGillivray
TimeEntry 05/26/2022	1.2 TCP - Prepare for technical conference and instructions to D. Vollmer; Identify relevant IR responses;	230	276 J. McGillivray
TimeEntry 05/02/2022	3.1 TCP - Review evidence update and prepare IRs re same; Instructions to D. Vollmer;	230	713 J. McGillivray
TimeEntry 05/09/2022	0.7 TCP - Prepare for technical conference;	230	161 J. McGillivray
TimeEntry 05/20/2022	0.2 TCP - Prepare for technical conference with N. Daube;	230	46 J. McGillivray
TimeEntry 05/24/2022	0.4 TCP - Prepare for technical conference with N. Daube; Instructions to D. Vollmer re letter;	230	92 J. McGillivray
TimeEntry 05/25/2022	0.7 TCP - Prepare for technical conference with N. Daube and L. DeMarco;	230	161 J. McGillivray
TimeEntry 05/27/2022	0.3 TCP - Prepare for technical conference with N. Daube;	230	69 J. McGillivray
TimeEntry 05/30/2022	0.3 TCP - Prepare for technical conference with N. Daube;	230	69 J. McGillivray

14.4

Bill number ID		Created at
	2055570424	
22144		01/31/2022 2:40 PM EST
22144	3068381541	02/03/2022 5:01 PM EST
22144	3071266386	02/04/2022 4:02 PM EST
22144	3074481981	02/07/2022 9:53 AM EST
22144	3081733746	02/08/2022 11:30 PM EST
22144	3082382196	02/09/2022 11:00 AM EST
22144	3091365816	02/11/2022 9:28 AM EST
22144	3112825866	02/18/2022 5:30 PM EST
22144	3346542066	05/10/2022 5:08 PM EDT
22144	3346595271	05/10/2022 5:12 PM EDT
22144	3346602711	05/10/2022 5:13 PM EDT
22144	3346610586	05/10/2022 5:14 PM EDT
22144	3412749456	06/01/2022 3:50 PM EDT
22144	3412756026	06/01/2022 3:51 PM EDT
22144	3412763436	06/01/2022 3:52 PM EDT
22144	3412766766	06/01/2022 3:53 PM EDT
22144	3412776921	06/01/2022 3:55 PM EDT
22144	3412780746	06/01/2022 3:55 PM EDT
22144	3412884351	06/01/2022 4:11 PM EDT
22144	3412892331	06/01/2022 4:13 PM EDT

		<u>Nic</u>	holas	<u>Daube</u>						
CASE EB-2021-0110: Rates: Distribution: Hydro One Networks Inc.		COST CLAIM EB-2021-0110 : 2 : Monika Pecnikova		Pecnikova	INTERVENOR NAME Pecnikova, Monika; +1 (647) 971-6771 monika@resilientllp.com			PARTICIPANT CLAIM STATUS Submitted		
FILING PARTICIPANT Daube, Nicholas; +1 (416) 768-8341 nicholas@resilientllp.com		NEW PARTICIPANT No		-	NON-FILING PARTICIPANT F. NAME			NON-FILING PARTICIPANT L. NAME		
SERVICE PROVIDER TYPE Legal Counsel	ER TYPE YEAR CALLED 2007		ED TO BAR COMPLETED YEARS PRACTICING/YEARS OF RELEVANT EXPERIENCE 15			ARS OF RIENCE	HOURLY RATE 290			
CV STATUS (FOR CONSULTANT/ANALYST) CV Attached		LAST CV DATE June 15, 2022	E			15	-	RATE ARGED 13.00		
HEARINGS		CONSULTATIC	ONS	DISI No	BURSEMENT	S				
Yes		INU		INU						
HEARINGS										
Name		<u>H</u> (ours H	ourly Rate	Sub Total	HST Rate	<u>HST</u>	Total		
Review Application and Ev Review Application a				290		13.00				
Discovery						10.00				
Preparation of Interro				290		13.00				
Review Interrogatory			7.30	290 290	2,117.00	13.00 13.00		2 202 24		
Technical Conference			7.30 3.80	290 290	2,117.00	13.00		2,392.21		
Technical Conference			0.00	290	1,102.00	13.00		1,240.20		
Issues List				200						
Preparation				290		13.00				
Attendance at Issues	s Conference			290		13.00				
Intervenor Evidence						10.00				
Preparation				290		13.00				
Interrogatory Respor		0000		290		13.00				
Preparation of Witne at Hearing	ss(es) IOI Allend	ance		290		13.00				
Settlement Conference / AI	DR									
Preparation	-			290		13.00				
Attendance				290		13.00				
Preparation of Settle				290		13.00				
Attendance at Prese	ntation to Panel			290		13.00				
Oral Hearing Preparation				290		13.00				
Attendance at Oral H	learing			290 290		13.00				
Submissions				200		10.00				
Written Submissions				290		13.00				
Oral Submissions				290		13.00				
Attendance at Oral S	Submissions			290		13.00				
Other Attendance				000		40.00				
Other Attendance Communication				290		13.00				
With Client				290		13.00				
With Other Parties				290 290		13.00				
Motions				_00		.0.00				
Preparation of Motion	n(s) Materials			290		13.00				
Dronoro Submission	• •	2)		200		12.00				

13.00

13.00

Preparation of Motion(s) Materials290Prepare Submissions on the Motion(s)290Attendance at Hearing on Motion(s)290Confidentiality290

Preparation of Application for	290	13.00		
Confidentiality				
Prepare Submissions on Confidentiality	290	13.00		
Attendance at Hearing on Confidentiality	290	13.00		
Decision				
Review	290	13.00		
Rate Order				
Review	290	13.00		
Prepare Submission on Rate Order	290	13.00		
Total Service Provider Fees				
Total Service Provider Fees:	3,219.00		418.47	3,637.47

Attachment	Document Type	Import Message
Nicholas Daube_CV.pdf	CV	
DRC_EB-2021-0110_NicholasDaube_Docket	Time Docket	
s_20220616.pdf		

Hearings, Consultations, Disbursements Attachments

Attachment Related Disbursement Claim Type Claim Type Import Message Nicholas CV Hearings Daube_CV.pdf CV Hearings DRC_EB-2021-0110 Time Docket Hearings _NicholasDaube_Do ckets_20220616.pdf Hearings

Туре	Date	Hours Description	Rate (\$) Billa	able (\$) User	Bill number ID
TimeEntry	05/25/2022	0.7 TCP - Prepare for technical conference;	290	203 Nicholas Daube	22144 3412794081
TimeEntry	05/26/2022	0.6 TCP - Reviewing background materials in preparation for technical conference;	290	174 Nicholas Daube	22144 3412879371
TimeEntry	05/27/2022	2.5 TCP - Prepare for technical conference;	290	725 Nicholas Daube	22144 3412887651
TimeEntry	05/30/2022	3.5 TCP - Prepare for technical conference;	290	1015 Nicholas Daube	22144 3412895631
TimeEntry	05/31/2022	4.3 TCA - Prepare for and attend Day 1 of technical conference;	0	0 Nicholas Daube	22144 3412934721
TimeEntry	06/01/2022	3.8 TCA - Prepare for and attend Day 2 of technical conference;	290	1102 Nicholas Daube	22144 3412976316
		15.4			

Created at

06/01/2022 3:57 PM EDT

- 06/01/2022 4:10 PM EDT
- 06/01/2022 4:12 PM EDT
- 06/01/2022 4:13 PM EDT
- 06/01/2022 4:19 PM EDT
- 06/01/2022 4:25 PM EDT

CAREER SUMMARY

Climate change and energy lawyer with extensive public and private sector experience. From 2015-2022, served in senior political positions at both the federal and provincial levels, including significant work in the areas of financial sector and pension regulation, trade, sustainable finance and economic transition, carbon pricing, and climate change litigation. From 2008-2015, practiced litigation in Toronto, including work with and on behalf of many of Canada's leading businesses. Graduate of the law schools at the University of Toronto and Columbia University (graduating with highest honours).

EDUCATION

Columbia University School of Law, New York, New York

LL.M., May 2008

James Kent Scholar (Graduated with Highest Honors) Parker School Certificate for Achievement in International and Comparative Law

University of Toronto Faculty of Law, Toronto, Canada

J.D., June 2006

Associate Editor for University of Toronto Faculty of Law Review Lily Rubenstein Prize for Fundamental Freedoms Massey College Junior Fellow

Queen's University, Kingston, Canada

B.A. (Honours), June 2001

Captain of Varsity Track and Field Team Academic All-Canadian

WORK HISTORY

Resilient LLP, Toronto, Canada

Counsel May 2022 – present Specialized in all aspects of the law relating to climate change and energy, as well as administrative law, Indigenous law, and public policy.

Government of Canada, Office of the Minister of Justice and Attorney General, Ottawa, Canada				
Director of Policy and Litigation	June 2020 – January 2022			
Director of Policy	November 2018 – June			
	2020			

Provided policy, communications and strategic advice to Canada's Minister of Justice and Attorney

General on matters relating to criminal law, constitutional law, climate change and carbon pricing, health law, and national security, among other matters. Actively engaged with other political offices across government on higher profile matters of a legal nature, including in relation to the Covid-19 pandemic. Supervised the Minister's policy and litigation teams, composed of up to five members.

Ontario Government, Toronto, Canada

Director, Ontario-US Relations, Office of the Premier 2018

Provided policy, communications and strategic advice to the Premier of Ontario on matters related to the province's interactions with the United States, including in relation to NAFTA negotiations and potential termination of the agreement, tariffs on the Canadian steel industry, Buy American legislation, and climate change policy. Participated in the negotiation of Memoranda of Understanding with Indiana, Oregon and Michigan. Provided direction and attended three Premier's trips to the United States, including meetings with US Governors, as well as representatives of the US executive and legislative branches.

Director of Policy, Office of the Minister of the Environment and Climate Change May – November 2017

Provided policy, communications and strategic advice to Ontario's Minister of the Environment and Climate Change on matters relating to cap and trade, the execution of Ontario's Climate Change Action Plan, adaptation to climate change, and air quality, among other matters. Supervised the Minister's policy team, composed of up to four policy advisors.

Senior Policy Advisor, Office of the Minister of Finance February 2015 – May 2017

Provided policy, communications and strategic advice to Ontario's Minister of Finance, with primary responsibility for advising the Minister on matters relating to, among other areas, pensions, the financial sector including financial disclosure, the environment and carbon pricing (cap and trade), and labour policy.

Norton Rose Fulbright Canada LLP, Toronto, Canada

Associate 2015

Specialized in commercial litigation, professional negligence and class actions. Acted for many of Canada's leading companies, including Porter Airlines, Pfizer Canada, Royal Bank of Canada and Nortel. Appeared before all levels of court in Ontario, as well as Federal Court of Appeal and Supreme Court of British Columbia.

Adair Morse LLP, Toronto, Canada

Associate June 2008 – October 2010 Specialized in commercial litigation, professional negligence, insurance, and personal injury.

McCarthy Tétrault LLP, Toronto, Canada

Summer Student; Articling Student May 2007 Summer 2005; August 2006 -

November 2010 – February

November 2017 – June

Worked in firm's litigation, corporate, and labour departments.

PUBLICATIONS

Hon. James Farley, Q.C., Roger J. Chouinard and Nicholas Daube, *Expectations of Fairness: The State of the Oppression Remedy in Canada Today,* 33 The Advocates' Quarterly 261 (2007).

Hon. James Farley, Q.C., and Nicholas Daube, *Imaginative Remedy Awards in Oppression Remedy Cases* (Presented at the Law Society of Upper Canada's Conference on Remedies and Damages, March 2007).

Nicholas Daube, *Charkaoui: The Impact of Structure on Judicial Activism in Times of Crisis*, 4 Journal of Law & Equality 103 (2005). (Cited in other academic works as well as in written submissions of appellant and intervenors at Supreme Court of Canada.)

SELECTED VOLUNTEER ACTIVITIES

University of Toronto Faculty of Law (2016 – present): Member of Law Alumni Association Council (September 2016 – present); Treasurer (2017 – 2019); Secretary (2019 – present). Engage with the law school's dean and other leadership on issues relating to student recruitment, curriculum, tuition support, fundraising, and alumni engagement, among other issues.

United Way Toronto & York Region (February 2014 – March 2017): Member of Campaign Cabinet (June 2015 – March 2017); Co-Chair of GenNext Cabinet (June 2015 – March 2017); Member of GenNext Cabinet (February 2014 – March 2017). Led a volunteer team of 20 young professionals who develop, coordinate and execute initiatives to increase United Way volunteer and donation rates among individuals aged 20-40.

LANGUAGES

French: CEFR C1 (Advanced). Most recent courses in 2018 at Alliance Française (Nice, France and Toronto, Canada). Participated in semester-long exchange during law school in 2005 at Pantheon II (Paris, France).

Spanish: CEFR C1 (Advanced). Most recent courses in 2018 at Spanish Centre (Toronto, Canada).